Assignment

Solve each system by graphing.

3
1) y=—-Xx+38
)y 5
= ix+4
y==3
2
3) y=—7X+5
)Y 3
Y=y
5) —lx+7
=3
y=-Xx+4
5
7) y=—X+9
)Y 5
Y=3
10
9) y=—>7x+7
)y .
y=7
11) y= lx+6
=73
10
=——X-3
y 3
8
13 =—X+2
)y p
8
=—Xx-1
y 7

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 1

Date

Period

1
2) y=—x-5
)y3

—2x+3
=3

6) y=—18x—-9
y=—X+38

5
8) y=—x+4
)Y 3
—lx+8
y=3

10) y=-2x+9

=3

12) y=6x-3
y=Xx-38

14) y=-x+38
y=—16x—7

math-worksheet.org



9
15) y:—7x+6

y=3

17) y=x+2
y=—X+6

1
19) y:—§x+6

—%x+9
Y=3

2
21) y:—7x+3

y=X-6

3
23) y=-_x-8

—l%x+7
=7

LT wsgsgs ath-vsorlsheel ory

3
16) y=——x+4
8
y=Xx-7
13
18) y=—x+4
) y=-
y=Xx-7
4
20) y=——Xx+6
3
Y=
22) y=2x+1
1
=——X+6
y 2

15
24) y:_jfx_7

y=-X+4
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Answers to Assignment (ID: 1)

1) No solution 2) (-6,-7) 3) (9,-1) 4y (4,3)
5) (-2, 6) 6) (-1,9) 7) (-6,-6) 8) (3,9)
9) (7,-3) 10) (3, 3) 11) (-3,7) 12) (-1, -9)
13) No solution 14) (-1,9) 15) (7,-3) 16) (8,1)
17) (2, 4) 18) (-2, -9) 19) (-3,7) 20) (6, -2)
21) (7,1) 22) (2,5) 23) (-7, -5) 24) (-4, 8)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

3

1 =——X+&
)y2
y=x-7

3) y=—x-7

=—X-1
y 9

5) y=4x+1
y=-X+6

7 y= lx 5
Y=7%

—2x+5
ar

9) y=—x+1
y=-10x—-8

11) y=3x+3
y=-2X+38

11
13) y=—x-7
)y4
y=—X+38
13
15) y=—>-x-4
)Y s
= %x+7
y=5

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 2

Date

Period

2) y=—x-3

=—X+5
d 4

4) y=——x+1

y=——x-7

1
6) y=—-x+7
) y=—73

=

10
8 =——X+3
)y 5

= 19x+1
=7

10) y=—-x+4
y=—x-2

12) y=—x+2
=—7

14) y=—-x+2
y=6x+9

16) y=x-1
y=X+2
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6
17) yzgx—3

—éx+3
Y=5

13
19) y:?;x+9
1

=——X-35
y 9
3
21 =—X-9
)y8
= §x+4
=74
23) y= lx+3
y=73
=73

LT wsgsgs ath-vsorlsheel ory

2
18) yz—gx—l

y=—X-9

5
20) y=——x-1
) y=-7
—%x+6
=3
22) y=17

5
=—X-3
y 4

1
24) yzgx—S

—1x+5
Y=3
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Answers to Assignment (ID: 2)

1) (6,-1) 2) (-8,-3) 3) (-9,-8) 4) (-8,2)

5) (1, 5) 6) (-4, 8) 7) (-8, -4) 8) No solution
9) (-1,2) 10) (5,-1) 11) (1, 6) 12) (9,-7)

13) (4, 4) 14) (-1,3) 15) (-5,9) 16) No solution
17) No solution 18) (9, -3) 19) (-9, -4) 20) (-7, 4)

21) (8,-6) 22) (8,7) 23) (-2, 4) 24) (-6,-9)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

5
1) y=—x-7
)y 5
= ix+2
=79
2
3) y=—x-8
)y ;
= %x 4
=73
5) y=—6x+1
y=-6X-2
7)) y=-8
6
=—X-2
y 7
9) y= lx+3
=73
Y=
11) y=——x+7
=3
2
13) y=——x+3
3
Y=

Name

ID: 3

Date

Period

2) y=—Xx+4
y=2X-15

4) y=-5x-6
y=-5x+5

2
6) y=—x-7
)y7

= 19x+5
=75

3
8) y=—x-5
) ¥=3
y=-X+6

10) y=x+9
y=—Xx+7

9
12) y=7x+1

=——X-9
y 7

1
14) y=ZX—3

1
=—X+6
d 4

2
16) y=§x+7

—%x 4
=3
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17) y=—x+7

y=-8x-7
19) —lx 5
Y=y
—Zx+7
Y=y
21) y=—x+8
7
=——X—-8
y 2
3
23) y=—X+6
)Y 5
Y=3

LT wsgsgs ath-vsorlsheel ory

18) y=—x-28
= lx 3
Y=7%

9
20) y=—Xx-6
) V=7
y=-2X+7

10
22) y:—7x+9

5
=—X-6
y 7
24) y=9
— HX 2
=73
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Answers to Assignment (I1D: 3)

1) (9,-2) 2) (3,1) 3) (7,-6) 4) No solution
5) No solution 6) (7,-5) 7) (-7,-8) 8) (8,-2)

9) (3,2) 10) (-1, 8) 11) (6, -4) 12) (-7, -8)
13) (-3,5) 14) No solution 15) No solution 16) No solution
17) (-2,9) 18) (6, -4) 19) (-8,-7) 20) (2, 3)

21) (-4, 6) 22) (7,-1) 23) (-8, -6) 24) (-3,9)
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Assignment

Solve each system by graphing.

1) y=x-—
y=x+1
16
3) y=—">-x-9
) y=-~
—lx+8
y 5
5 y=-X+5
1
=—X+8
y 2
7) y=Xx+3
Y=73
9) —lx+5
=3
= 2x 5
=73
7
11) y=—x-9
) y=y
=5
6
13) y=—-x+7
5
= éx+9
Y=
15) y=—x+9
LI
y=-""X-

Name

ID: 4

Date

Period

2) y=9x-6
y=9x-35

1
4) y=—x-8
)y 3

17
=—X+8
d 3

6
6 =—X-9
)y5

= llx+8
=77

2
12) yz—gx—7

= gx+3
Y=

1
14) y=§x+3

y=3
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5
17) y=—x+7
)y 5
y=-2X-2
19) y=—x+4
y=-14x-9
7
21) y=——x+1
)Y p
—lx+9
Y=%
8
23) y=——x+4
)Y 9
=7y

LT wsgsgs ath-vsorlsheel ory

1
18) y=5x—3

7
y:—zx+6
4
20) yzgx—9
1
y=—§X—2

13
22) y:—7x+6

13
=——X=-2
y 7
10
24) y=——X+9
3
=3
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Answers to Assignment (ID: 4)

1) No solution 2) No solution 3) (-5,7) 4y (-3,-9)

5) (-2,7) 6) (5,-3) 7) (-9,-6) 8) (6, 1)

9) (-2,4) 10) (-4, -9) 11) No solution 12) No solution
13) No solution 14) (6, 5) 15) (-6, 8) 16) (8, -8)

17) (-2,2) 18) (4,-1) 19) (-1, 5) 20) (9, -5)

21) (-6, 8) 22) No solution 23) No solution 24) (3,-1)
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Assignment

Solve each system by graphing.

1) —ix+6
y=3
y=73
3) y= lx+8
y=73
==
5) —lx+1
Y73
y=-2X+38
10
7) y=——Xx-7
)y 3
—ix+7
y=3
10
9 =—xX+1
)y -
Y=
6
11 =—X-9
)y .
= 19x+7
=75
13) —lx+5
Y=y
5
=——X-06
y 2

b2 wsgsgs ath-vsorlsheel ory

ID: 5

Period

Name
Date
2) y=x+7
y=-3X+3
4) y=——x+4
=3
3
6) y=—>x-1
) ¥=-3
= llx+7
Y=
8) y=-7x-38
y=X+38

11
10) yz—i;x+5
11

=——X+6
y 6

12) y=—x+4
Y773

13
14) y:—T;x—6

y=-X+5
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13
17) y:—Tx—9

—§x+9
Y=

19) y=——x+2

y=——X-95

21) x=5

y=3

4
23) yzgx—4

—ix+4
=3

LT wsgsgs ath-vsorlsheel ory

2
16) y=7x—4

y=—Xx+5

3
18) y=§X—9

= 2x+3
y=5

22) y=3x-1
y=2

24) y=6x-5
y=-2X+3

math-worksheet.org



Answers to Assignment (ID: 5)

1) (-3,2) 2) (-1,6) 3) (-7,9) 4 (7,-7)
5) (3,2) 6) (8, —4) 7) (-3,3) 8) (-2, 6)
9) No solution 10) No solution 11) (7,-3) 12) (-8,2)
13) (-4, 4) 14) (-2,7) 15) (-8, -9) 16) (7, -2)
17) (-4, 4) 18) (5, -6) 19) No solution 20) (6, -2)
21) (5,-5) 22) (1,2) 23) (-9, -8) 24) (1,1)
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Assignment

Solve each system by graphing.

1) y= £x 3
Y=

= lx+7
Y=73
1

3) y=——x-3
)Y 2
13

=——X+9
y 4
3

9) y=—7X+38
)Y 5

= lx+2
=73
9

7) y=——x-4
)y s
9

=——X+9
y 5
10

9) y=—"-Xx+3
)y 9
=5
2

11) y=—>x+1
)Y s

= 2x+8
y=5

13) —lx 4
y=3
Y=73

b2 wsgsgs ath-vsorlsheel ory

ID: 6

Period

Name
Date
5
2) y=—x-3
)y 5
=7
4) y= lx+4
Y=75
7
=——X-2
y 5
6) y=—x-4
3
=—X-3
y 2
8) y=—x+5
17
=——X-38
4
10) x=-7
9
=——X-06
y 7
12) y= lx 2
=73
= Ex+9
=77
5
14) y=——x-4
)y 3
Y=73
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2
15) y:—gx—4

= £x+5

=75
17) y=-5x-2

y=x+4

14
19) y:—?x—9

= %x+3
=73
2

21 =—X-5
)Y 3

= §x+5
y=73
7

23) y=——x-3
)Y 5

= Zx 8
y=73

LT wsgsgs ath-vsorlsheel ory

14
16) yz—?x—s

= lx+8
=75
12

18) y=—>x-5

) y=-7
X=-7

20) y=—x-7
=y

22) y=2x-17
=3

24) y=——x-3
—lx 8
=%

math-worksheet.org



Answers to Assignment (I1D: 6)

1) (-3,8) 2) (-9,-8) 3) (4,-4) 4) (-5, 5)
5) (6, 1) 6) No solution 7) No solution 8) (-4,9)
9) (9,-7) 10) (-7, 3) 11) (5,-1) 12) (4, -4)
13) (3,-3) 14) No solution 15) (9, -6) 16) (-5,9)
17) (-1, 3) 18) (-7,7) 19) (-3,5) 20) (-5,-9)
21) (3,-3) 22) (4,1) 23) No solution 24y (8, -6)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

1)—£x5
=

= zx+5
=77

3
3) y=—x-38
)y 2

=73

5) y=-3x-8

5
=—X+6
y 3

7)) y=——x-17

y=-2Xx+4

15) y=-2x-38

= lx+6
=73

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 7

Date

Period

11
10) y:—Tx—9

= £x+6
=

14) y=6x-17
y=-2x+1

11
16) y=—7x+7

y=——X-2
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8 18) y=-2x-8
17) y=——x-2 )Y 3X
3 y=——x-1
y=6 >
13 2
19) y=——x-4 20) y=—x-9
)y 5 )Y s
y_ 3 y_ 5
1 6
21) y=—x-17 22) y=—X+9
)y 5 )y s
—lx 5 = lx+2
y_2 y_ 5
23) y=——XxX+7 24) y=—x+7
—ix 3 =——X—-4
Y=+ y=

LT wsgsgs ath-vsorlsheel ory
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Answers to Assignment (ID: 7)

1) (~7,7) 2) (~6,-9) 3) (8,-5) 4) (2,-2)
5) (-3,1) 6) (-2,5) 7) (6,-8) 8) (-8,8)
9) No solution 10) No solution 11) (-3,5) 12) (7,-5)
13) (5,-7) 14) (1,-1) 15) (-8, 8) 16) (7, -4)
17) (-3, 6) 18) (-5,2) 19) (-9,9) 20) (5,-7)
21) No solution 22) (-5,3) 23) (8,2) 24) (-4, 6)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

1
1) y=—x-38
) Y=
y=2X+9
5
3) y=—>-x-1
) ¥=-7
1
=—Xx-=7
y 4
5
9) Yy=—X+9
) ¥=o
1
=——X+3
y 6
7) ——lx+6
=7y
y=—Xx+3
8
9) y=—-X+6
) ¥=-7
8
=——X+3
y 5

1
11) y:—7;x+4

= Zx-7
=79
2

13) y=——Xx+5
5

= llx 4
Y=

15) y=—-10x—-28
y=x+3

b2 wsgsgs ath-vsorlsheel ory

ID: 8

Period

Name
Date
2) y=-2x+17
1
=—x-4
g 5
4) x=-4
3
=—X-06
y 4
6) y=-5x+9
y=-5x-9
8) y=3x+4
y=-4x-3
2
10) y=§x+8
13
=——X-9
y 6

13
12) yz—?;x+8

y=-Xx-2
14) y=-2x+6
=3
5
16) y=——-x-3
) ¥="7
17
=——X+9
g 9
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3
17) y=——x+5
5
y==7
19) y= lx+4
=73
6
=——Xx-1
y 7
3
21 =——X+5
)y 5
7
=—X—-28
y 4
7
23 =——X+2
)Y p
= lx+7
y=73

LT wsgsgs ath-vsorlsheel ory

11
18) yz—?x+3

= £x+5
=%
11
20 =——X+7
) 5
Y=
22) y=—X+3
y=73
4
24) y=—x+9
7
y=-2x-9
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Answers to Assignment (I1D: 8)

1) (-9,-9) 2) (5,-3) 3) (4,-6) 4y (-4, -9)
5) (-6, 4) 6) No solution 7) (-4,7) 8) (-1,1)
9) No solution 10) (-6, 4) 11) (9, -9) 12) (3,-5)
13) (-5,7) 14) (4,-2) 15) (-1,2) 16) (9, -8)
17) (-5, 8) 18) No solution 19) (-7, 5) 20) No solution
21) (4,-1) 22) (-2,2) 23) (-6,9) 24) (-7,5)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

1) y=—4x+4
y=-Xx-2

1
9) y=—x+2
)y 2

1
=——X+9
Y 4

11) y=-2x-1
y=2X-15

15) y:—%x+1

y=Xx+38

b2 wsgsgs ath-vsorlsheel ory

Name

ID: 9

Date

Period

2) y=—x+1
—§x+6
Y73

8
8) y=—2Xx+2
)Y -

y——§x+1
7

10) y=%x+4

y= zx+1
3

12) yz—gx+3

y= ix 5
3

14) y=—x+3
y=3Xx-15

1
16) y:gx—7

)
=——X+9
g 2
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17) y=—x-2

y=—-X+2
19) y=——x+2
Y73
0
21) y=—X-2
) Y=75
= lx+9
y 9
23) y=x-1
ar
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1
18) y=——x+2
) y=-3
=3
20) y=-2x-9
= gx 1
=75
22) y=x+9
=——X+2
y 4
3
24) y=——Xx-5
)y 1
= £x+3
=7
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Answers to Assignment (I1D: 9)

1) (2,-4) 2) (-2,3) 3) (3,-1) 4) (-8, 6)
5) No solution 6) (7,-7) 7 (1,-3) 8) No solution
9) No solution 10) (-3, 3) 11) (1,-3) 12) (-9, 7)
13) (-7, -9) 14) (2, 1) 15) (-4, 4) 16) (6, —6)
17) No solution 18) (8, -2) 19) (6, -5) 20) (-5, 1)
21) (9, 8) 22) (-4, 5) 23) (-8, -9) 24) (4,-8)

2 gagsgs path-wersheeh.ory th-worksheet
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Assignment

Solve each system by graphing.

2
1)y:—gx—3
8
y:—gx+3
3) y=2x+5
y=2X+6
2
5)y:—§x—5
10
y:—gm+3

11
7) y=——x+7
)Y s

y=x-9
7
9) y=—>x-1
) ¥=-7
2
=——X+4
y 5
11) y=-7
y=—4X+5
13) y:§x+6
8
7
=—X-5
y 4

Name

ID: 10

Date

Period

2) y=—-X%X-5

1
=—X+3
d 6

6) y=10x+9
y=—x-2

12) y=x-38
y=-2Xx+4

14) y=-3x+1
y=3x-5

16) y=-6x+6
y=—x-4
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17) y=—x+9
y:—%x—6
2
19) y:EX—S
y=—§x+2
21) y:—§x+3
7
y:—gx—7
11
23) y:—77x+2
3
y=—7X—6

LT wsgsgs ath-vsorlsheel ory

8
18) y=——Xx+6
) y=-73
1
=——X-1
y 9
9
20) y=——x-35
) ¥=-3
1
=—X+6
y 4
22) y=——X+9
y=-9
24) y=x-17
y=-12Xx+6
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Answers to Assignment (ID: 10)

1) (5.-3) 2) (-6,2)
5) (3,-7) 6) (-1,-1)
9) (-5, 6) 10) (9, 8)
13) (8,9) 14) (1,-2)
17) (-7,3) 18) (9,-2)
21) (-6, 7) 22) (8,-9)

A dsss-mabh-werhsheeh.ory

3) No solution
7) (5,-4)

4) No solution
8) (-7,2)

12) (4, -4)
16) (2, -6)
20) (-8, 4)
24) (1,-6)
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